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Chi2 / ndf = 3.491 / 3
 4.043 ±Constant = 15.22 

 0.03225 ±Efficiency = 0.9771 
  0.13 ±PoissonMean = 1.359 

Noise: 1.358926 hits/event

data points
fit to data 

binomial distribution p=0.977057

 = 2200 VdiffHV Chi2 / ndf = 3.491 / 3
 4.043 ±Constant = 15.22 

 0.03225 ±Efficiency = 0.9771 
  0.13 ±PoissonMean = 1.359 
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Chi2 / ndf = 8.685 / 10

 16.91 ±Constant = 288.8 

 0.02372 ±Efficiency = 0.7999 

  0.13 ±PoissonMean = 1.933 

Noise: 1.933013 hits/event

data points

fit to data 

binomial distribution p=0.799931

 = 2250 VdiffHV Chi2 / ndf = 8.685 / 10

 16.91 ±Constant = 288.8 

 0.02372 ±Efficiency = 0.7999 

  0.13 ±PoissonMean = 1.933 
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Chi2 / ndf = 5.143 / 7
 13.94 ±Constant = 193.5 

 0.01041 ±Efficiency = 0.9338 
  0.13 ±PoissonMean = 1.505 

Noise: 1.504756 hits/event

data points

fit to data 

binomial distribution p=0.933755

 = 2350 VdiffHV Chi2 / ndf = 5.143 / 7
 13.94 ±Constant = 193.5 

 0.01041 ±Efficiency = 0.9338 
  0.13 ±PoissonMean = 1.505 
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